
3-6 Equations and Problem Solving 
But let’s face it, solving equations with just numbers and no real-world application can be 
boring.  So to have some real fun, here come the word problems!!!  

Steps for Solving:  1. ______________________________________________________ 

   2. _______________________________________________________ 

     3. _______________________________________________________ 

   4. _______________________________________________________ 

   5. _______________________________________________________ 

1. In a catalog, tulips cost $0.75 each and shipping costs are $3.00. Write and solve an 
equation to determine the number of tulips that you can order for $21.  

 

 

 

 

2. To mail a first class letter, the U.S. Postal Service charges $.34 for the first ounce and 
$.21 for each additional ounce. It costs $1.18 to mail your letter. How many total 
ounces does your letter weigh? 

 

 

 

 

 

3. Your cell phone costs $45 a month, and then you are charged $0.25 per minute.  If 
your total bill for the month of October is $62.50, how many minutes did you talk for 
in October? 

 

 

 

 



For Some of These You Will Need To ____________   ___   _______________ 
 

4. The length of a rectangle is 6 in. more than its width.  The perimeter of the rectangle 
is 24 in.  What is the length of the rectangle? 

 

 

 

 

5. The width of a rectangle is 2 cm less than its length.  The perimeter of the rectangle 
is 16 cm.  Write and solve an equation to find the dimensions of the rectangle. 

 

 

 

 

6. If the width of a rectangle is 3 feet, and the length is represented by   (3x - 6).  Find x 
and the length, when the area is 18 square feet. 

 

 

 

 

Consecutive Integers: ________________________________________________ 

7. The sum of three consecutive integers is 147.  Find the integers. 

 

 

 
 

8. The sum of three consecutive even integers is 42.  Find the integers. 

 

 

 



Multi-Step Word Problem Practice    Name _____________________________ 

1. You want to buy a bouquet of yellow roses and baby’s breath for $19.25. The baby’s 
breath costs $3.50 per bunch, and the roses cost $2.25 each.  You want 1 bunch of 
baby’s breath and some roses for your bouquet.  How many roses can you buy? 

 

 

 
 

 

2. Suppose you want to buy one pair of pants and several pairs of socks. The pants cost 
$24.95, and the socks are $5.95 per pair. How many pairs of socks can you buy if 
you have $50.00 to spend? 

 

 

 
 

 

3. If the width of a rectangle is 8 feet, and the length is represented by   (x + 4).  Find x 
and the length, when the area is 128 square feet. 

 

 

 

 

 

4. The sum of three consecutive numbers is 72. Write and equation and solve to find the 
smallest of these numbers? 

 

 

 


